MATHS

BOOKS - JEEVITH PUBLICATIONS
MATHS (KANNADA ENGLISH)

INTEGRALS

One Marks Questions With Answers

1. Evaluate: /(1 — x)+/zdz

o Watch Video Solution



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_LcY866CoKBJ7

1

2. Write the integral of , o >1

zv/z2 — 1

with respect to x.

o Watch Video Solution

3. Write the ant derivative of e2* with respect

to x.

o Watch Video Solution



https://dl.doubtnut.com/l/_LcY866CoKBJ7
https://dl.doubtnut.com/l/_vlUOUgXZgOqB
https://dl.doubtnut.com/l/_kdFscR9fyulz

4.s1in 2x

o Watch Video Solution

5.cos 3.

o Watch Video Solution

6. (az + b)°

o Watch Video Solution



https://dl.doubtnut.com/l/_zD1hpuTcGgPx
https://dl.doubtnut.com/l/_qJsKw64ww8VL
https://dl.doubtnut.com/l/_qa2u0mjIvIiZ

7.sin 2z — 4e%®.

o Watch Video Solution

8. /(463“" + 1) dx

o Watch Video Solution

gfz:z(l— L )d
. —2 xr
T

° Watch Video Solution



https://dl.doubtnut.com/l/_P1sjIBGWiHOU
https://dl.doubtnut.com/l/_Qmp68uNKhVQx
https://dl.doubtnut.com/l/_b2hzdQuVI15b

10. /(a:cz + bx + c) dx

o Watch Video Solution

1. /(2:132 + e“’)da:

o Watch Video Solution

12. /<\/_— %)2&%.

° Watch Video Solution



https://dl.doubtnut.com/l/_vesp46KVUICA
https://dl.doubtnut.com/l/_xG0WaBApOMJ8
https://dl.doubtnut.com/l/_CpeDynYgdM41

Two Marks Three Marks Questions With Answers

. / dz
sin’ z cos2

o Watch Video Solution

2. ﬁog xdz.

o Watch Video Solution

3. ﬁog(sin:c). (cot z)dz.

| oo |


https://dl.doubtnut.com/l/_fml9nuJus9id
https://dl.doubtnut.com/l/_MnNXV0Csooc9
https://dl.doubtnut.com/l/_UiA44ND6eCQt

| & Watch Video Solution

w/2
4./ cos 2xdzx.
0

o Watch Video Solution

5. /ﬂzx secx(l + tanzx)dz.

o Watch Video Solution

3 2
6./x oz 4d:13.
22

f


https://dl.doubtnut.com/l/_UiA44ND6eCQt
https://dl.doubtnut.com/l/_l1ej5gmjDMQc
https://dl.doubtnut.com/l/_IgCrZx0Q01W6
https://dl.doubtnut.com/l/_FrfTyYvnbFOf

Watch Video Solution

o Watch Video Solution

3 2
- —1
s./”’ vl
(@ — 1)

° Watch Video Solution

9. /(1 + x)/xdz.


https://dl.doubtnut.com/l/_FrfTyYvnbFOf
https://dl.doubtnut.com/l/_P3Nq69LACFiI
https://dl.doubtnut.com/l/_sXsjE3tyoFyl
https://dl.doubtnut.com/l/_uvdt1UyIfZI2

° Watch Video Solution

10. /\/5(3:1;2 + 22 + 3)d:v.

° Watch Video Solution

11./(2a: — 3cosx + e”)dx.

° Watch Video Solution

12. /(2:1:2 — 3sinzx + 5\/5) dzx.


https://dl.doubtnut.com/l/_uvdt1UyIfZI2
https://dl.doubtnut.com/l/_LLbnB4EZLnsC
https://dl.doubtnut.com/l/_s2683w7iUPEV
https://dl.doubtnut.com/l/_4cUbSHVk8bGO

° Watch Video Solution

13. /sec(seca: + tanz)dz.

° Watch Video Solution

2
sec’x
14. /—2d£r:.
cosec’x

° Watch Video Solution

— 3sinx
15. dz.
cos?


https://dl.doubtnut.com/l/_4cUbSHVk8bGO
https://dl.doubtnut.com/l/_IU4uWDevYWXr
https://dl.doubtnut.com/l/_HxpwW8er6LA4
https://dl.doubtnut.com/l/_R8H9kGfumJZC

° Watch Video Solution

9
16./ Y de
1+ 2

° Watch Video Solution

lo 2
17./( 82) dz.
T

° Watch Video Solution

1
18./ dz.
x + xlogx


https://dl.doubtnut.com/l/_R8H9kGfumJZC
https://dl.doubtnut.com/l/_gcIHCYBlCJk5
https://dl.doubtnut.com/l/_WyqyLIY68UMb
https://dl.doubtnut.com/l/_vOJnGxK9zVBi

° Watch Video Solution

19. /sin x sin(cos x)dx

° Watch Video Solution

20. /\/aa: + bdzx.

° Watch Video Solution

21.%1;\/50 + 2dx


https://dl.doubtnut.com/l/_vOJnGxK9zVBi
https://dl.doubtnut.com/l/_20aHtrgjNtLR
https://dl.doubtnut.com/l/_oE4tCtf8cm2Y
https://dl.doubtnut.com/l/_tAJSGCaUB6zU

° Watch Video Solution

22. ﬁ\/ 1+ 2z%dzx.

° Watch Video Solution

23./(4:13 +2)v/z? 4+ z + 1dz.

° Watch Video Solution

dzx

24, / - _1\/5


https://dl.doubtnut.com/l/_tAJSGCaUB6zU
https://dl.doubtnut.com/l/_W2aQoSL4DZLh
https://dl.doubtnut.com/l/_emwHdkVBvWGd
https://dl.doubtnut.com/l/_OlmV8Rf5Q8My

° Watch Video Solution

25./ Y dx.
ver+4

° Watch Video Solution

26. /(a:3 — 1)1/3:135dx.

° Watch Video Solution

2
27./ v ~dz
(2 + 3z3)


https://dl.doubtnut.com/l/_OlmV8Rf5Q8My
https://dl.doubtnut.com/l/_MQuKTTXZLbe9
https://dl.doubtnut.com/l/_KXynj8IqDtPV
https://dl.doubtnut.com/l/_8n0azQHXyFyJ

° Watch Video Solution

1
28./ —dx
z(logx)

° Watch Video Solution

29./ Y iz
9 — 42

° Watch Video Solution

30. /e2“’+3da:.


https://dl.doubtnut.com/l/_8n0azQHXyFyJ
https://dl.doubtnut.com/l/_eELgvoJDD12P
https://dl.doubtnut.com/l/_IzyVYGZpDW4C
https://dl.doubtnut.com/l/_KdSRsPIfZnUL

° Watch Video Solution

31. /izda;
e.’E

° Watch Video Solution

1

etan* x
32./ dzx.
1+ z2

o Watch Video Solution

2x
—1
33, / € dz
e2r 4+ 1


https://dl.doubtnut.com/l/_KdSRsPIfZnUL
https://dl.doubtnut.com/l/_wAeaWmYtlp3U
https://dl.doubtnut.com/l/_ExBkvKoqggAZ
https://dl.doubtnut.com/l/_CG3u6eSNYwo6

° Watch Video Solution

62:1; o 6—23:
34. dx.

° Watch Video Solution

35.ﬁ:a112(2x — 3)dz.

° Watch Video Solution

36. /sec2(7 — 4z)dz.


https://dl.doubtnut.com/l/_CG3u6eSNYwo6
https://dl.doubtnut.com/l/_6Y9BgACnZFu9
https://dl.doubtnut.com/l/_WtbXftOARXn7
https://dl.doubtnut.com/l/_905SrryAGSNd

° Watch Video Solution

37 /sin_lm p
\ x.
V1 — 2

° Watch Video Solution

cosxr — 3sinx
38.[2 ——dx
6cosx + 4sinx

° Watch Video Solution

1
39./ Sdx.
cos?z(1 — tanz)


https://dl.doubtnut.com/l/_905SrryAGSNd
https://dl.doubtnut.com/l/_OhdAtV5o3BLW
https://dl.doubtnut.com/l/_pF21zjnYzAkf
https://dl.doubtnut.com/l/_W8R48sWCRHKS

° Watch Video Solution

40. / cos @ dz

Z

o Watch Video Solution

41, /\/sin 2x cos 2xdx.

o Watch Video Solution

COS
42/
V1+ sma:


https://dl.doubtnut.com/l/_W8R48sWCRHKS
https://dl.doubtnut.com/l/_JRzHyhFbaTwd
https://dl.doubtnut.com/l/_byaAoOtJSmKn
https://dl.doubtnut.com/l/_JmNzs7FFOBFP

° Watch Video Solution

sinx
43./ dzx.
1+ cosx

° Watch Video Solution

sinx
44./ > dz.
(1+ cosx)

o Watch Video Solution

45, ﬁ sin zdzx.


https://dl.doubtnut.com/l/_JmNzs7FFOBFP
https://dl.doubtnut.com/l/_0CciLHSfCCVm
https://dl.doubtnut.com/l/_eucDALE6p68r
https://dl.doubtnut.com/l/_sx8XXCooFZ0T

° Watch Video Solution

46. fz: sin 3xzdz.

° Watch Video Solution

47.Find fc logxdzx.

° Watch Video Solution

48. fz: log 2xdzx.


https://dl.doubtnut.com/l/_sx8XXCooFZ0T
https://dl.doubtnut.com/l/_C14BiOmh34Ti
https://dl.doubtnut.com/l/_43aJvC6UG7fS
https://dl.doubtnut.com/l/_tLvzUmbik3X8

° Watch Video Solution

49, fvz logxdz.

° Watch Video Solution

50. /\/4 — z?dz.

° Watch Video Solution

51. /\/ 1+ 4z%dzx.


https://dl.doubtnut.com/l/_tLvzUmbik3X8
https://dl.doubtnut.com/l/_DGL32ViZgBw5
https://dl.doubtnut.com/l/_257HoB64A80a
https://dl.doubtnut.com/l/_m8sZQoTk24zR

° Watch Video Solution

52. /\/:1:2 + 4x + 6dz.

° Watch Video Solution

53. /\/:1:2 + 4z + 1ldz.

° Watch Video Solution

54, /\/1 — 4z — zidx.


https://dl.doubtnut.com/l/_m8sZQoTk24zR
https://dl.doubtnut.com/l/_Q43vk8r4nlp1
https://dl.doubtnut.com/l/_X80HER3Q9SbV
https://dl.doubtnut.com/l/_1rCcfLrQ35St

° Watch Video Solution

55. /\/:1:2 + 4x — bSdz.

° Watch Video Solution

56. /1 (z + 1)dz.

1

o Watch Video Solution

31
57./ —dzx.
5 T


https://dl.doubtnut.com/l/_1rCcfLrQ35St
https://dl.doubtnut.com/l/_Uq9ekuYukyZ2
https://dl.doubtnut.com/l/_v4FamQ0Y68KI
https://dl.doubtnut.com/l/_79H9y0aqUXS5

° Watch Video Solution

2
58./ (4:c3 — 5z% + 6z + 9)dm.
1

o Watch Video Solution

/2
59. / cos 2zdzx.
0

° Watch Video Solution

5
60. / e*dzx.
4


https://dl.doubtnut.com/l/_79H9y0aqUXS5
https://dl.doubtnut.com/l/_NVrhKPUpShsx
https://dl.doubtnut.com/l/_BmK3IpBjoBlP
https://dl.doubtnut.com/l/_YRdWcTue6W2d

° Watch Video Solution

Five Marks Questions With Answers

1. Find the integral of w.rtx and
02 _ 32
dx
hence evaluate .
V7T — 6z — 22

° Watch Video Solution

2.Find the integral of with respect to

x2 + a?
1

x and hence evaluate / dz.

x2 4+ 2x + 2



https://dl.doubtnut.com/l/_YRdWcTue6W2d
https://dl.doubtnut.com/l/_20WSXopdaVG8
https://dl.doubtnut.com/l/_cbHt0AxIq3Yy

o Watch Video Solution

3. Find the integral of ———, wrtx and
dx
hence evaluate/
x2 4+ 3z — 10

° Watch Video Solution

1
4. Find the integral of —— Wwrtx and

a2 — x
dzx
hence evaluate [——.
16 — x2

° Watch Video Solution



https://dl.doubtnut.com/l/_cbHt0AxIq3Yy
https://dl.doubtnut.com/l/_0JPJWBq9UwPi
https://dl.doubtnut.com/l/_LIh3HEnz74No
https://dl.doubtnut.com/l/_3tUUVAvNXmBc

1
5. Find the integral of ——— wiritx and
a? + x2

dz
hence evaluate/ )
x2 — 6x + 13

o Watch Video Solution

1
6. Find the integral of w.r.t.x and
vV? + a?

dx
hence evaluate )
Va2 + 7

o Watch Video Solution



https://dl.doubtnut.com/l/_3tUUVAvNXmBc
https://dl.doubtnut.com/l/_hvXfef42V21B

1
7. Find the integral of w.rtx and
22 — a2

dx
hence evaluate/ i
Va2 +6x +7

o Watch Video Solution

1
8. Find the integral of w.r.tx and
a2 — 12

dx
hence evaluate/ )
V7 — 6z — x2

o Watch Video Solution



https://dl.doubtnut.com/l/_DHEj2IHZVkeN
https://dl.doubtnut.com/l/_0OIrQ251oDP8

9. Find the integral of v/z* + a® with respect

to x and evaluate /\/4:132 + 9dzx.

° Watch Video Solution

10. Find the integral of with respect
x? + azl
to x and hence evaluate / dx.

x2 + 22 + 2

o Watch Video Solution



https://dl.doubtnut.com/l/_1v9BrNmSNygw
https://dl.doubtnut.com/l/_c2qD9rR9NpdG

11. Find the integral of v/z? — a® wrtx and

hence evaluate /\/:132 + 4x — bSdz.

° Watch Video Solution

12. Find the integral of 1/a® — z* wrtx and

hence evaluate /\/3 — 2z — z’dx.

o Watch Video Solution



https://dl.doubtnut.com/l/_fZ4wo0kXLNLO
https://dl.doubtnut.com/l/_4tGHvD2Be8aB

13. Find the integral of v/z® + a® wrt. x and

hence evaluate /\/:132 + 4x + 6, dx.

o Watch Video Solution

14. Find the integral of \/z* 4 a” with respect

to x and evaluate / 4x? + 9dz.

o Watch Video Solution

Six Marks Questions With Answers


https://dl.doubtnut.com/l/_BiSEnldSD5BQ
https://dl.doubtnut.com/l/_RJYUQLL1Xdr8
https://dl.doubtnut.com/l/_eu2nnDAhn7av

1. Prove that /(az)dm:/ fla — z)dz
0 0

and hence evaluate / 4 log(1 + tanz)dz.
0

o Watch Video Solution

b b
2. Prove that / (z)dr = / fla+b—z)dx

q /§ dx
an )
¥ 1+ /tanx

° Watch Video Solution



https://dl.doubtnut.com/l/_eu2nnDAhn7av
https://dl.doubtnut.com/l/_A0wjvuEVFONx

3. Prove that

/“ 4 2y f(z)de if f(z)is even
L 0 if f(x)is odd

and hence evaluate

1
(a) / sin® z cos* zdz.
1

o Watch Video Solution

4, Prove that

t 2 f@)de i f(a)is even
/“ o 0 if f(x)is odd


https://dl.doubtnut.com/l/_PB8DQGVClQyv
https://dl.doubtnut.com/l/_iA8VMPGHCOxU

and hence evaluate

/2
(b) sin’ zdz.
—7/2

o Watch Video Solution

5. Prove that

/a Iy — { 2f, f(z)dz if f(z)iseven
L 0 if f(x)is odd

and hence evaluate

(c) / |cos x|dx.
0

o Watch Video Solution



https://dl.doubtnut.com/l/_iA8VMPGHCOxU
https://dl.doubtnut.com/l/_qhAamPma18IN
https://dl.doubtnut.com/l/_fwmmcZKVJQ1l

6. Prove that

/“ { 2[* f(z)dz if f(z)is even
dx = 0
0 if f(x)is odd

—a
and hence evaluate

/2

(d) tan® zdz.
—7/2

° Watch Video Solution

2a a
7. Prove that f(z)dx = 2/ f(z)dz
0 0

when f(2a — ) = f(x) and hence evaluate

T
/ cos x|dx.
0

o Watch Video Solution



https://dl.doubtnut.com/l/_fwmmcZKVJQ1l
https://dl.doubtnut.com/l/_MC08JQnye8Er

8. Prove that /af(:c)d:c = /af(a — z)dx
0 0

and hence evaluate the following:

Ve
(a)/ dx
0 VT ++a—=

° Watch Video Solution

9. Prove that /af(a:)da: = /af(a — z)dx
0 0

and hence evaluate the following:

(b)/ cos® zdz.
0

° Watch Video Solution

IS



https://dl.doubtnut.com/l/_MC08JQnye8Er
https://dl.doubtnut.com/l/_xu8PHZltBi7r
https://dl.doubtnut.com/l/_0DnGtm0FMwyn

10. Prove that / f(x)dx = / fla — z)dx
0 0
and hence evaluate the following:

(c) 2 vV SINnx d:L‘

0 +/sinx + y/coscT

o Watch Video Solution

11. Prove that /Oaf(a:)dm = /Oaf(a — z)dzx

and hence evaluate the following:

1
(d)/ z(l — z)"dz.
0

o Watch Video Solution



https://dl.doubtnut.com/l/_0DnGtm0FMwyn
https://dl.doubtnut.com/l/_hCYmnibLNgH1
https://dl.doubtnut.com/l/_OQzoow8MTv36

12. Prove that /af(w)d:c = /af(a — z)dx
0 0

and hence evaluate the following:

2
(e)/ T4/2 — xdz.
0

o Watch Video Solution

13. Prove that /af(:v)dw = /af(a — z)dx
0 0

and hence evaluate the following:

T xdx
(f) —
0 a?cos?x + b2sin“x

o Watch Video Solution



https://dl.doubtnut.com/l/_OQzoow8MTv36
https://dl.doubtnut.com/l/_cTPgVDwplE2k
https://dl.doubtnut.com/l/_7CAawMAVOYZP

Try Yourself
b

1. / xdzx.
a

° Watch Video Solution

2./05 (z + 1)dz.

o Watch Video Solution



https://dl.doubtnut.com/l/_7CAawMAVOYZP
https://dl.doubtnut.com/l/_gfobgwHsRiAo
https://dl.doubtnut.com/l/_KzYYa7Z3lDDe

3
3./ z2dz.
2

° Watch Video Solution

4./14 (:1;2 — :L')d:c.

° Watch Video Solution

1
5./ etdzx.
4

o Watch Video Solution



https://dl.doubtnut.com/l/_lkig5iLY22dg
https://dl.doubtnut.com/l/_UIr4XdmDo4Y3
https://dl.doubtnut.com/l/_6KYcZzLYlIvZ

4
6./ (ZL’ + ezx)d:c.
0

° Watch Video Solution

2
7./ 6w+3dw.
0 ZC2—|—4

° Watch Video Solution

/2
8. / \/sin ¢ cos® ¢d.
0

o Watch Video Solution



https://dl.doubtnut.com/l/_rDL4CIWXkXuE
https://dl.doubtnut.com/l/_IBkXXDaedZCT
https://dl.doubtnut.com/l/_eEqpX5ybzG4g

1 .1 2x
0. sin dzx.
0 1+ x2

o Watch Video Solution

1 1
10./ dx.
0 x+4— 2

° Watch Video Solution

/2
1. / \/mb cos® ¢pd¢.
0

o Watch Video Solution



https://dl.doubtnut.com/l/_sSc5YNxajW0z
https://dl.doubtnut.com/l/_TFjyYIjfv4XW
https://dl.doubtnut.com/l/_QZph4QD4tlHt

1
2
12./ sin_l( < )dm.
0 1+ x2

o Watch Video Solution

13./30\/1; + 2dx

o Watch Video Solution

/2 sing
14. —  d=x.
0 1 + COS2

o Watch Video Solution



https://dl.doubtnut.com/l/_bUuZv99T73zY
https://dl.doubtnut.com/l/_yQ1IxF2I0Tyk
https://dl.doubtnut.com/l/_gjtbAAWmP38i

2 1
15./ dzx.
0 x+4— 2

° Watch Video Solution

16./ dz.
1 x24+2z+5

o Watch Video Solution

271 1\,
17. — — — |e“*dzx.
1 L 25132

o Watch Video Solution



https://dl.doubtnut.com/l/_dJicon9yCQT4
https://dl.doubtnut.com/l/_wlUt0Eit3Grt
https://dl.doubtnut.com/l/_Tu6f7u2P2TQp

18. The value of

B.O

C.3

D.4

Answer:

the

integral

o Watch Video Solution



https://dl.doubtnut.com/l/_uyEm6A5fGYGb
https://dl.doubtnut.com/l/_BvV4HZocVmq9

19.If f(x) = / t sintdt, then f'(x) is
0

A.cosx + xsinx
B.rsinx
C.xcoszx

D.sinx + x cosx

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_BvV4HZocVmq9

20./ log(1 + cos z)dzx.
0

° Watch Video Solution

21./0a ﬁ!fﬂdw'

° Watch Video Solution



https://dl.doubtnut.com/l/_sdVlx3HwDtH2
https://dl.doubtnut.com/l/_V1RZRZs8CAEq

